INVITATION FOR BID ISSUING OFFICE: PORT AUTHORITY OF GUAM Government of Guarn 1026 Cabras Highway, Ste. 201, **General Manager** Pitl, Guam 95915 DATE ISSUED: July 19, 2023 INVITATION FOR BID No.: IFB/PAG-017-23 PARTS FOR THE GENERATOR MAINTENANCE & SUSTAINMENT PROGRAM BID (IDIQ) BID FOR: SPECIFICATIONS: SEE ATTACHED DESTINATION: PORT AUTHORITY OF BUAM REQUIRED DELIVERY DATE: 60-90 Days Upon Receipt of Purchase Order. Delivery schedule time and quantity will be coordinated between the successful bidder and the requesting department on an as-needed basis. For a period of One [3] year on an as-needed basis upon the availability of funds. THIS IS AN INDEFINITE QUANTITY SID. INSTRUCTION TO BIDDERS: INDICATE WHETHER: _____ INDIVIDUAL _____ PARTNERSHIP __X CORPORATION INCORPORATED IN: Hawaii THIS BID SHALL BE SUBMITTED in duplicate with one (1) electronic copy and sealed to the issuing office above before or until TUESDAY, AUGUST 8, 2023 at 2:50 p.m., Chamorro Standard Time (Guern Time) and shall be publicly opened. Any Bid submitted after the time and date specified above shall be rejected. See attached General Terms and Conditions, and Sealed Bid Solicitation for details. The undersigned offers and agrees to furnish within the time specified, the articles and services at the price stated opposite the respective items listed on the schedule provided unless otherwise specified by the bidder. in consideration of the expense of the Government in the opening, tabulating, and evaluating this and other bids, and other considerations, the undersigned agrees that this bid remains firm and irrevocable within 20 calendar days from the date of opening to supply any or all the items which prices are quoted. MAME AND ADDRESS OF BIDDER: SIGNATURE AND TITLE OF PERSON AUTHORIZED TO SIGN THIS BID: Hawthorne Pacific Corp. Mey Soman, Secretary 16945 Camino San Bernardo San Diego, CA 92127 AWARD: CONTRACT NO.: IFB-PAG-017-23 AMOUNT: \$11,046.35 OATE: 10/23/2023 2, 6, 9, 12, 14, 15, 16, 17, 20, 21, 22, 23, 27 (TEM NOIS), AWARDED: HAME AND ADDRESS OF CONTRACTOR: THE OFFICER: Hawthorne Pacific Corp. 16945 Camino San Bernardo, San Diego, CA 921

Page 3 of 37 IFB-PAG-017-23

Date: _

SIGNATURE AND TITLE OF PRESON AUTHORIZED TO SIGN THIS CONTRACT: Jenrey Boman Secretary

Title:

MONTH MENCIO

Item No.	Description	оту.	UOM	Unit Price	Price Extension	
1.0	Starter Motor P/N 10R-0400	2	EA	<u>\$ 1957.92</u>	\$ 3,915.84	
	SPECIFICATIONS: For Equipment: 455KW C15 Caterpillar Generator Set			BIDDING ON/REMARKS: Comply		
	Manufacturer: Model: C15 Year: 2023 Place of Origin: USA Date of Delivery: 45 da		of receiving	ı PO.		
2.0	Starter Motor P/N 436-9106	8	EA	<u>\$ 2,744.44</u>	<u>\$2,744.44</u>	
	SPECIFICATIONS: For Equipment: 455KW C18 Caterpillar Generator Set			BIDDING ON/REMARKS: Comply		
	Manufacturer: Caterpi Model: C18 Year: 2023 Place of Origin: USA Date of Delivery: 45 da		of receiving	PO.		
3.0	Starter Motor P/N 338-3454	1	EA	\$ 2,560.77	s_2,560.77	
	SPECIFICATIONS: For Equipment: 725KW Generator Set	C27 Caterpillar		BIDDING ON Comply	/REMARKS	
	Manufacturer: Caterple Model: C27 Year: 2023	liiar				
	Place of Origin: USA Date of Delivery: 45 days from date of receiving PO.					
4.0	Alternator P/N: OR-2698	2	EA	\$ 1,839.64	s 3,679.28	
	SPECIFICATIONS: For Equipment: 455KW C15 Caterpillar Generator Set			BIDDING ON Comply	/REMARKS	
	Manufacturer: Caterpi Model: C15 Year: 2023 Place of Origin: USA	illar		Apart apple to apple		

item No.	Description	OTY.	UOM	Unit Price	Price Extension		
6.0	Alternator P/N: 177-9953	l	EA	<u>\$ 1,893.61</u>	\$ 1,893.61		
	SPECIFICATIONS: For Equipment: 455KW C Generator Set	18 Caterpillar		BIDDING OF	V/REMARKS		
	Bidding on: Manufacturer: Caterpilla Model: C18 Year: 2023 Place of Origin: USA	r					
	Date of Delivery: 45 day	vs from date o	of receiving	PO.			
.0	Alternator P/N: 561-2999	ı	EA	s 1,821.89	\$ 1,821.89		
	SPECIFICATIONS: For Equipment: 725KW C Generator Set	Comply	VREMARKS				
	Manufacturer: Caterpilla Model: C27 Year: 2023 Place of Origin: USA Date of Delivery: 45 day Switch, Battery Disconne	ys from date o	of receiving	PO. \$ <u>162.43</u>	s <u>1,137,01</u>		
	P/N: 7N-0718 SPECIFICATIONS: For Equipment: C15 / C18 / C27 Caterpillar			BIDDING ON/REMARKS			
	Generator Sets	7 C27 Caterpini		Comply	100		
	Manufacturer: Caterpil Model: C15 Year: 2023	lar					
	Place of Origin: USA Date of Delivery: 45 days from date of receiving PO.						
)	Air Füter P/N: 9Y-3879	12	EA	\$ 382.54	\$ 4590.48		
	SPECIFICATIONS: For Equipment: 455KW C15 Caterpillar Generator Set			Comply	VREMARKS:		
	Bidding on: Manufacturer: Caterpil Model: C15 Year: 20203	lar					
	Place of Origin: USA Date of Delivery: 45 da	PO.					

No.	Description	OTY.	UOM	Unit Price	Price Extension
0.0	Air Filter P/N: 106-3969	2	EA	\$ 217.34	<u>\$ 434.68</u>
	SPECIFICATIONS: For Equipment: 455 KN Generator Set	W C18 Caterpillar		BIDDING O	N/REMARKS
	Bidding on: Manufacturer: Catery Model: C18 Year: 2023	billar			
	Place of Origin: US/ Date of Delivery: 45 G	lays from date	of receiving	PO.	
0.0	Air Filter P/N: 142-1339	2	EA	\$ 154.93	\$ 309.86
	SPECIFICATIONS: For Equipment: 725 KV	V C27 Calemillar		BIDDING ON/REMARKS	
	Generator Set		Comply		
	Bidding on: Manufacturer: Model: C27	oillar			
	Place of Origin: US/ Date of Delivery: 45 (of receiving	PO.	
1.0	Fuel Filter P/N: IR-0749	24	EA	s <u>44.47</u>	<u>\$ 1067.28</u>
	SPECIFICATIONS: For Equipment: 455KW Generator Sets	illar	BIDDING O	N/REMARKS	
	Bidding on: Manufacturer: Catery	oillar		N. A. P	
	Ridding on:	A	of receiving) PO.	
2.0	Bidding on: Manufacturer: Catery Model: C18 Year: 2023 Place of Origin: US/	A	of receiving EA	PO. \$ 65.21	\$ 782.52
2.0	Bidding on: Manufacturer: Catery Model: C18 Year: 2023 Place of Origin: US/ Date of Delivery: 45 (A days from date of		\$ <u>65.21</u>	\$ 782.52 N/REMARKS:

No.	Description	OTY.	UOM	Unit Price	Price Extension
13.0	Fuel Filter P/N: 438-5386	2	EA	\$ 105.68	\$ 211.36
	SPECIFICATIONS: For Equipment: 455KV Generator Set	V C18 Caterpillar		BIDDING O Comply	N/REMARKS:
	Manufacturer: Model: C18 Year: 2023 Place of Origin: USA Date of Delivery: 45	rpillar days from date (of receiving	g PO.	
4.0	Fuel Filter P/N: 422-7587	4	EA	<u>\$ 142.74</u>	_s570.96
	SPECIFICATIONS: For Equipment: 725KW C27 Caterpillar Generator Set			BIDDING ON/REMARKS	
	Manufacturer: Cate Model: C27 Year: 2023 Place of Origin: USA Date of Delivery: 45	rpillar days from date	of receiving	g PO.	
5.0	Fuel Filter P/N: 326-1643	4	EA	\$ 83.89	\$ 335.56
	SPECIFICATIONS: For Equipment: 725KW C27 Caterpillar Generator Set			BIDDING O Comply	N/REMARKS:
	Manufacturer: Catery Model: C27 Year: 2023	billar			
	Place of Origin: US Date of Delivery: 45	A days from date	g PO.		
6.0	Oil Filter P/N: 249-2347	24	EA	\$_52.67	\$ 1264.08
	SPECIFICATIONS: For Equipment: 455KW C15 / C18 Caterpillar Generator Set			BIDDING O Comply	N/REMARKS
	Manufacturer: Caterpillar Model: C15 Year: Place of Origin: USA Date of Delivery: 45 days from date of receiving			a PO	

Item No.	Description	OTY.	UOM	Unit Price	Price Extension
17.0	Oil Filter P/N: 1R-1808	4	EA	\$ 67.41	\$ 269.64
Bid Ma Ma Ye Pia	r Equipment: 725KW C27 nerator Set dding on: nunufacturer: Caterplilar odel: C27 ar: 2023 ace of Origin: USA te of Delivery: 45 days		f receiving P	Comply	ONREMARKS:
	V-Belt Set P/N: 352-5646	8	EA	\$_155.37	\$ 1,242.96
Fo	ECIFICATIONS: r Equipment: 455KW C15 nerator Set	Caterpillar		BIDDING O	N/REMARKS:
Mode Year: Place		om date of re	ceiving PO.	<u>\$ 177.34</u>	\$ 354.68
Fo	P/N: 7E-7646 ECIFICATIONS: r Equipment: 455KW C18 nerator Set	Caterpillar		BIDDING O	NREMARKS:
Manu Mode Year:	ng on: facturer: Caterpillar i: C18 2023 of Origin: USA of Delivery: 45 days fr	Om date of re	oceiving PO		
20.0	V-Belt P/N: 348-7036	2	EA	\$ 88.44	<u>\$176.88</u>
Fo	ECIFICATIONS: 7 Equipment: 725KW C27 9 Inerator Set	Caterpillar		BIDDING O	NREMARKS:
Manu Mode Year: Place	ing on: ifacturer: Caterpillar il: C27 2023 of Origin: LISA of Delivery: 45 days fr	om date of re	eceivina PO		

Item No.	Description	OTY.	UOM	Unit Price	Price Extension
21.0	Hose P/N: 264-7111	18	EA	\$ 25.12	\$452.16
For	ECIFICATIONS: Equipment: 455KW C15 nerator Set	Caterpillar		BIDDING (Comply	ON/REMARKS
Manu Mode Year:	facturer: 1: C15 2023 of Origin: USA				
Date o	of Delivery: 45 days fro	m date of rec	eiving PO.		
22.0	Hose P/N: 264-7112	6	EA	\$ 29.67	\$178.02
For	ECIFICATIONS: r Equipment: 455KW C15 nerator Set	Caterpillar		BIDDING Comply	DN/REMARKS
Manu Mode Year: Place	ng on: facturer: Caterpillar : C15 2023 of Origin: USA of Delivery: 45 days fro			s 64.64	\$ 775.68
23.0	P/N: 230-3396	12	EA	304.04	\$ 775.00
Fo	ECIFICATIONS: r Equipment: 455KW C13 nerator Set	Caterpillar		BIDDING (Comply	ON/REMARKS
Biddi Manu Mode Year:	facturer: Caterpillar 1015 2023				
Place	of Origin: USA of Delivery: 45 days fro	om date of re	ceiving PO		
24.0	Hose P/N: 217-7088	12	EA	\$ 132.30	s_1587.60
Fo	ECIFICATIONS: r Equipment: 455KW C15 enerator Set	5 Caterpillar		BIDDING (ON/REMARKS
Manu Mode Year: Place	ing on: Ifacturer: Caterpillar 1: C15 2023 of Origin: USA of Delivery: 45 days fre	om date of re	ceiving PO.		

item No, I	Description	OTY.	UOM	Unit Price	Price Extension
	Clamp P/N: 8T-4984	36	EA	\$ 29.42	\$ 1059.12
For E	CIFICATIONS: Equipment: 455KW C15 trator Set	Caterpillar		Comply	N/REMARKS:
Model: Year: _	cturer: Caterpillar	m date of re	ceiving PO.	(To Pro	
26.0	Clamp P/N: 144-0367	12	EA	\$_30.17	\$ 362.04
For E	CIFICATIONS: Equipment: 455KW C15 crator Set	Caterpillar		Comply	N/REMARKS:
Model: Year: _	C15 2023		achina DO	NA PAR	
	Delivery: 45 days fro	m date of re	EA	s 17.22	s 1,239.84
SPE For I	P/N: 208-7448 CIFICATIONS; Equipment: 455KW C15 crator Set	Caterpillar		TOWN.	N/REMARKS:
Model: Year: _	cturer: Caterpillar	om date of re	eceiving PO.		

NOTES:

- 1. All Part Numbers referenced herein are Caterpillar taken directly from manufacturer's parts manual received with the generator set or as installed on the units.
- 2. All Items must be brand-new and unused.
- Any Bid offer that is not an Original Equipment Manufacturer (OEM) item must be equal
 or better to the Caterpillar part number referenced; including, but not limited to, physical
 dimensions, type strength, filtering criteria, and material composition.
- 4. Delivery of Items by Awarded Bidder or Receipt of Items by PAG must be 45 days or less from the acknowledgment of a Purchase Order.

5. Items 1, 4, 7, 8, 11, 12, 16, 18, and 21 thru 27 are for the following sample generator sets:

Genset S/N: T4A00816 Generator Model: LC6 Generator S/N: G6B22027 Engine Model: C15 Engine S/N: JJF01087 GensetS/N: T4A00813 Generator Model: LC6 Generator S/N: G6B22026 Engine Model: C15 Engine S/N: JJF01092

6. Items 2, 5, 7, 9, 11, 13, 16, and 19 are for the following generator set:

Genset S/N: CATOOC18LT3500305

Generator Model: Generator S/N: G6B26833 Engine Model: C18 Engine S/N: CM800825

7. Items 3, 6, 7, 10, 14, 15, 17, and 20 are for the following generator set:

Generator Model: SR5 Generator S/N: G1F01091 Engine Model: C27 Engine S/N: ZRS00716

THESE SPECIFICATIONS HAVE BEEN DEVELOPED BY THE PORT AUTHORITY OF GUAM EQUIPMENT MAINTENANCE DIVISION ALEX AFLAGUE, FACILITIES MAINTENANCE SUPERINTENDENT, SHINE SAN AGUSTIN, EQUIPMENT MAINTENANCE SUPERINTENDENT (ACTING), GLENN NELSON, MAINTENANCE MANAGER (ACTING), JOSE JAVELLANA III, CHEF PLANNER; REVIEWED BY ANNE L.G. SABLAN, PROCUREMENT & SUPPLY MANAGER (ACTING) AND APPROVED BY RORY J. RESPICIO, GENERAL MANAGER.